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Te}l whether the line or segment is best described as a chord, secant, tangent, diameter,

ot radius of QC.

HC {adivg B.
i Chord D,
BE diameteyr

4B and 4D are tangent to

e A
K= oL

. IF XV =18, ¥Z =14, XZ =20,

i) 'fangwf

AF Suepnt

OC, Find the value(s) of x.

lind the radius of each circle.
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sssume that lines that appear to be tangent are tangent. Find the value of each variable,
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I2. Give the coordinates of the center, the radius, and the ¥

equation of the circle.
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Find the measure of the arc or angle in OO, given mCD
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Find all possible values of x. Then determine the solution(s) of the problem.
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